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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER—II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. A type of tourist who seeks novelty at all costs even discomfort and danger, and stays
with the local people avoid contact with the tourism industry :
(A) Allocentric (B) Midcentric (C) Psychocentric (D) Dirifter
2. A hotel smaller in size with modest boarding and lodging facilities is known :
(A) Downtown Hotel (B) Resort Hotel
(C) Airport Hotel (D) Inns

3.  Which of the following type of accommodation unit was opened in 1634 in USA by
Samuel Coles ?

(A) Tavern (B) Caravan (C) Pension (D) Cabana

4.  Bali belongs to which of the following country ?
(A) India (B) Indonesia (C) Singapore (D) Sri Lanka

5.  Holiday Time Share concept was started by a Swiss Alexander Nettle in the year :
(A) 1950 (B) 1955 (C) 1960 (D) 1970

6.  “Green Triangle” refers to :
(A) Ooty, Kodaikanal and Kanyakumari
(B) Kollam, Cochin and Kannanur
(C) Guwabhati, Shillong and Kaziranga
(D) Chennai, Mahabalipuram and Kanchipuram

7.  Name of the Committee appointed during Rajiv Gandhi’s administration to study and
suggest measures relating to Tourism Development :

(A) L.K.Jha Committee
(B) National Committee on Tourism
(C) Tourism Development Committee
(D) National Travel and Tourism Committee
8.  Open sky policy was framed by which of the following organisation ?
(A) DOT & Government of India (B) DGCA
(C) TAAI (D) IATA

D—9306 2
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10.

11.

12.

13.

14.

15.

An endorsement on passport issued to person who wishes to stay in foreign countries
temporarily is known as :

(A) Tourist visa (B) Transit visa

(C) Entry visa (D) Immigrant visa

The paying system is meant to :

(A) Leaves without paying the hotel bill

(B) Document reservation requests

(C) Control Guests’ message received

(D) Contact guests in a specified area in the hotel

Which one of the following was the fastest growing region in international receipt in
2004 ?

(A) America (B) Europe

(C) Asia and the Pacific (D) Africa and the Middle East

Which of the following are related to water transportation ?

@ DGCA

(i) Cruising

(iii) Ferry Services

(iv) Catamaran

(A) (i), (ii), (iii) are correct (B) (ii), (iii), (iv) are correct
(C) (i), (iii), (iv) are correct (D) (i), (ii), (iv) are correct

Which of the following places contain coral reefs ?

(i) Kovalam

(i)) Andaman and Nicobar Islands

(iii) Lakshadweep Islands

(iv) Gulf of Kutch

(A) (i), (ii), (iii) are correct (B) (ii), (iii), (iv) are correct
(C) (i), (iii), (iv) are correct (D) (i), (ii), (iv) are correct

Which one of the following pairs is correctly matched ?
(A) Nagarjunasagar, the world’s tallest dam is located at - Karnataka

(B) Golgumbaz, the largest and most famous monument constructed in - 12th Century
A.D.

(C) Green Leaf Programme was launched by PATA in the year - 1994
(D) Manas Tiger Reserve is located in the State - Sikkim

Which of the following pairs is not correctly matched ?

(A) Taj Group started the budget hotels for Middle Class people named - Gateway
Hotels

(B) The state where floatels are popular - Kashmir

(C) Hotels functioning in Palaces, Havelies, Castles, Forts and residences built before
1980 - Heritage Hotels
(D) The hotel chain run by the ITDC is known as - Ashok Hotel Chain



10.

11.

12.

13.

14.

15.
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16. Match the following List-I with List-II :

CleICE

17. Match the following List-I with List-II :

a

b

<)
d)

~— ~—

(
(
(
(

List-1

National Tourism Action Plan
National Committee on Tourism

Formation of the Ministry of Tourism

List-I1
(i) 1986
(i) 1992
(iii) 1967

Formation of the Department of Tourism, (iv) 1958
Govt. of India

Codes :

(b)
(if)
(i)

(iii)
(iv)

List-1

UK
Italy

France

Germany

Codes :
(a)

CleiCIE

18. Match the following List-I with List-II :

g

D—9306

List-1
London - Stockholm
Rome - Milan

Cairo - Nairobi

(c)

(iv)
(iii)
(iv)

(i)

(c)
(iii)
(ii)
(iv)
(iii)

(d)

(iii)
@iv)

(i)
(if)

(d)
(iv)
(iv)
(iii)
(ii)

Barcelona - Madrid

(b)
(ii)
(iii)
(iii)
(ii)

(c)
(iii)
(i)
@iv)
@)

(d)

List-11

Heathrow /Gatwick
Fiumicine/Ciampino
Charles de Gaulle
Rhein Main

List-11

Spain

Egypt and Kenya
Italy

UK and Sweden



16. o el &1 faem & |

g1

(A)
(B)
(©)
(D)

17. S 1&g 119 e &3

(a)
(b)
(c)
(d)

HIg:

(A)
(B)
(©)
(D)
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i W ity gfufa
T HATTT HT TS
Tfe fa9m, RG TR T TS

FT:
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(
(
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@)
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g1
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gl

Y
ST

(a)

(

i)

(i)
(i)
(i)

(b)
(ii)
(iii)
(ii)
(iv)

g1
- ihed

Iq-faeam
FY- et

(c)
(iv)
(iii)
(iv)
@)

(c)
(iii)
(ii)
(iv)
(iii)

EIGKIRIEECIS
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(
(
(
(

i)
iv)
ii)

iii)

(b)
(i)
(iif)
(iii)
(i)

(c)
(iii)
(ii)
(iv)
@)

(d)
(iii)
(iv)
6]

(ii)

(d)
@iv)
(iv)
(iii)
(i)

(d)
(iv)
(i)
(i)
(iv)

(i)

(i)
(i)
(iv)

(ii)
(iii)
(iv)

i 1986
(i) 1992
(iii) 1967
(iv) 1958
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19. Match the following List-I with List-II :

List-1 List-I1
(a) Alternative Tourism (i)  Decisions are taken by the Locals
(b)  Appropriate Tourism (ii) Indigenous population control
() Community Based Tourism (iii) Less severe negative effects
(d) Ethical Tourism (iv) Travelers are advised to learn about the
culture
Codes
(@ ) () (@)
(A) () @) @G @Gv)
(B) () (@) (Gv) (@)
© @@ ) @) (Gv)
(D) () () @Gv) (@)
20. Match the following List-I with List-II :
List-1 List-11
(a) Bagh Cave (i) Uttar Pradesh
(b) Elephanta (il) Maharashtra
(c) Sravasti (iii) Madhya Pradesh
(d) Kalsi (iv) Uttaranchal
Codes :
(@) () () (@)
A) @@ @) 3> Gv)
(B) (@) @) @Gv) (@)
(©) () @) @G @Gv)
(D) (@) @) @G o Gv)

21. We have four major types of tourists. Identify the correct order in which they appeared
in the world :

(A)
(B)
(©)
(D)

The explorer, the individual mass tourist, the drifter, the organised mass tourist

The drifter, the explorer, the individual mass tourist, the organised mass tourist

The drifter, the individual mass tourist, the explorer, the organised mass tourist

The individual mass tourist, the drifter, the explorer, the organised mass tourist

22. Identify the sequence of the organisational set up of the Department of Tourism in
descending order :

(1)
(iif)
(A)
(©)

D—9306

Director

Joint Director General
(1), (i), (iii), (iv)

(i), (iii), (iv), (i)

(i)
(iv)
(B)
(D)

Regional Director
Additional Director General
(iv), (iii), (ii), (1)

(ii), (iv), (iii), (1)



19. T g= 1 %1 = 11 9 faeam &

gei-1 ge-11
(a) STeefed Tded (Jshfeush) () TEE g ot e
(b) THIfiEe (W) T (i) werRElt SEwE e
(c) I 99 (TS THa) qed (i) A ®H AR THES FRomm
(d) i (Fifama) e (iv) = &1 Sehfd e &1 qare

Fg:

(@ (b)) (0 (@
(A) (i) G) @ (@)
(B) (i) @) (@v) (@)
Q) @@ @) (i) (v)
(D) (@) @) @) @)

20. 757 = 1 o1 =T 119 faam &

g1 11
(a) 9T TTE () WU
(b) AR (i) RN
(c) St (i) TEAIR
(d) Tt (iv) SS=Ed

HIS:

(@ b)) () @
(A) (1) @G) @) (iv)
(B) (i) (i) (v) @)
(©) (i) G) @@ (@)
(D) () (i) @) (i)

21. I8 9N YN & THH & | GOR § g7k Yehed o1 A oard |
(A) TSHIR (ST i), SAfedeh g Tdeh, A, Fifed T8 Tk

(B) STIIHd, 3T=Iv0eh, Afsaeh g Tdceh, Hifed HHE Td<H
(C) oTTTHa, =afde FE THesh, TS, Hifed HHE Tdeh

(D) =R THg ek, STIHA, ST, Hifed HE TdH

22. YHeA faUTT T WSS YT STETY A H TI i |

OEEINED (i) =« daes

(iii) FISd ARG (iv) srfafea #eifeers
(A) (@), (i), (i), (iv) (B)  (iv), (iid), (i), (i)
(C) (i), (i), (iv), (@) (D) (i), (@v), (iii), (@)
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23.

24.

25.

Write the sequence of the growth and development of Tourism in India :
i)  Cultural Tourism
ii)  Mass Tourism

(

(

(iii) Winter and Water Sports Tourism

(iv) Eco Tourism / Alternative Tourism

(A)  (iv), (iii), (ii), (i) (B)  (iid), (iv), (@), (ii)
(C) (i), (ii), (iv), (i) (D) (), (i), (iii), (iv)

Identify the sequence of Tourism planning undertaken by Department of Tourism,
Govt. of India :

(i) Kovalam and Gulmarg (i) Muttakadu and Bekal
(iii) Fatehpur Sikri (iv) George Everest Town
(A) (i), (i), (iv), (3) (B) (), (i), (i), (iv)

(C) (@), (iv), (i), (i) (D) (), (i), (i), (iv)
Arrange the following monuments chronologically :

(i)  Sanchi Stupa (i) Ajanta

(iii) Konark Sun Temple (iv) Meenakshi Temple
(A) (i), (iid), (iv), (i) (B) (), (ii), (i), (iv)

(©) (), (i), (iii), (iv) (D) (i), (iv), (iii), (i)

Read the passage below and answer the questions from 26 - 30 :

Tourism is a worldwide phenomenon that is experiencing a very dynamic growth
especially over the last two or three decades. It is the single largest service industry in
the world and different studies indeed make the forecast that it will become the activity
generating the highest income by the beginning of the 21st Century. Although the
excellent pace of growth of 2004 was expected to slow down gradually, for the moment
growth rates are very similar to those seen in the second half of 2004, a year in which
international tourist arrivals grow by more than 10 percent to an all time record of 763
million.

International tourism receipts reached in 2004 a new record value of
US $ 622 billion as expressed in absolute figures. Indian economic scenario has also
taken a dramatic shift in the consumer demographic as well. Today the middle class
income segment stands at 350 - 400 million, over 300 million people are in the age
group of 25 - 40. International travel too was tremendously encouraged as Air India
and Indian Airlines increased their frequency on international routes. The fact that
more international airlines have been given access to Indian skies gives tourism even
more impetus. The momentum continues with players like Air Sahara and Jet Airways
steadily increasing their international presence. These airlines have created yet another
segment and provide new opportunities for the domestic traveller. And the domestic
travel is making full use of this opportunity a fact that is made very clear with the 25
percent rise in domestic business.
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23.

24.

25.

qRd H 9T % eI T§ farm &1 Y adi |

(i) HiEpfas gde (i) THE T

(i) ¥ T A e A (iv) T THeA/dhicas qd
(A)  (@iv), (iid), (i), (@) (B) (i), (iv), (@), (i)

(©) (@), (i), (v), (@) (D) (), (i), (iii), (iv)

e faum, YR SR g TR TR, gee wue TS w1 %A s | 9ard -
(i) HFAH T T

(i) gl TH 9Fa

(i) AeYR HRd

(iv) SISl Tae T

(A) (i), (iil), (iv), () B) (), (i), (iii), (iv)
(©) (i), (iv), (i), (@) (D) (), (iii), (i), (iv)
T Tt & faforsen o srafeera L)

(i) H= (i) S

(iii) TR I AR () R AR

(A) (i), (iii), (iv), () (B) (@), (iii), (i), (iv)
(©) (), (i), (i), (v) (D) (i), (iv), (iii), (@)

Freiferliae Tensr &t afen 3 sienfaiad g9 &7 3T ST - (99926 @ 30 T )

T2 Uk foava =amdt ufigea § < fasivaen fusat -9 <urent § diamfa @ fasw s @
T Ie fova § ta wed a1 ar-3am § IR fue fie steem g ufasramt s w € fw
Tooh 9] It o URSY 9 U T § fo9d S=uaw o Uer € 9o | 99t 2004 Ft ISR
fowma =1 Tfa o @R € 60 T F oAE T, fug 39 S faw™ R 2004 & A4 T WA
foehma X IO & 81 I8 a9 UEn o foray ST=aisdia Tdesh &1 STRTHA 10 Wfaw ¥ oft Se]
1 ST Hated (TS A11 39 98 7 € 63 AME AUy e 3 o |

RIS WA | 21 2004 § U fate g s1eid afe 38 faypg siwel @ stfusrsy #%
@ T8 622 foaferaT sTisnt Sfer do S 9g=1| vdE enfds afigea § Iu9iar stemet &
qRafid TRV | TTeshia qacil oT% © | 3T H& JUft 311 §g 350-400 fafers =1 81 dH
FUS ¥ SR ART 25-40 F Y- | T | AT AT 1 TR sfoean’ &1 IR @ +ff 9l
e feam T SR 3fUeem Tsias— 3 ST=aUsia HRll W STu1 SSHI S |1 9l & | I8 A
for 3R eIfysh sTaisdla WeR oz & folu et e 1 @ie feon o R, 39 | v
seren faerdn 81 39 Tfa @1 TSR U Ud ST USR oW Sd@t Huftal R oot ST
AT I Fe1 W § | 37 TSR AT 7 Tk 1R &3 o1 i foran § &7R sy amht & faw g
TR UM 3 B | et A oft 37 STl =1 I oY el W1 § S 36 a2 § Uiaa T gl
T <ufta wden | 25 ufawm #1 95 &8 71

D—9306 11 P.T.O.



26. The passage clearly indicates the following. Identify the correct one.
(A) Tsunami disaster did not affect Inbound Tourism
(B) Package travel developed faster because of low cost airlines

(C) Statistics of first few months of the year 2005 show that tourism recovered from
the various shocks felt in the 2001 - 2003 period

(D) United States hasn’t yet started recovering from the severe drop it suffered in the
period 2001 - 03.

27. Match the following List-I with List-II :

List-1 List-I1
(a) Domestic Tourism (i) 25 percent
(b) International Tourism (ii) 10 percent
(c) International Receipts (iii)) $ 622 billion
(d) Middleclass Income Segment (iv) 350 - 400 million

Codes :
(a) b) () (@)

(A) (1) @) @) (@)
(B) G (i) (v) (D)

(©) @i Gv) @ ()
(D) Gv) @) G (i)

28. Match the following List-I with List-II :

List-1 List-11
(a) Air India (i) International operation
(b) Indian Airlines (ii) Increasing International Presence
(c) Jet Airways (iii) Domestic Travellers
(d) New Airlines (iv) Increased frequency to International market
Codes :

(@ B (o (@)

(A) (1) @) @v) (i)
B) @ ) @) (Gv)
© @ (Gv) @) (i)
(D) ) @) G) (@)
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26. 39 TN W oA 90 T 2t € | WE SR & fafed w0
(A) A R HI TS qETRN W STETHT Tfed W YT el g |
(B) TSR AEAS W HH TH & HRUI Uohet AN H 2111 ey forerra gam

(C) =¥ 2005 & YRS HEMl & 3Ths TG & 2001-2003 A &% A ot fafist seni 4
I

(D) 2TAfERT 214t 9 2001-2003 % SR Tkl i et | o118 T i 21ef 9 R Tl
el

27. = 1 g 1§ gafad wifse -

g1 g1
(a) <¥E g G)  25%
(b) ST T i) 10%
(c) ST it (iii) 622 Toferam =er
(d) T 9O T & (iv) 350 - 400 Taferm

Fg:

(@ B () (@
(A) (1) G) (@) (i)
(B) (i) @) (v) (@)
Q) (i) @v) @) (i)
(D) (@v) @) @) (i)

28. 7o §E=H 1 &1 =T 11 & foam i

g1 g1
(a) TR g ()  erfs afErer
(b) sFeo waTEEH (i) oTifiga Safeefa # fs
(c) e TITES (iii) =] AT
(d) - TSR A« (iv) STOUsE IR H dedt ST

Fg:

(@ () (© (@
(A) (@) @) (v) (i)
(B) () G (@) (i)
Q) @ (v) @) (i)
(D) @) (@) G) o (v)
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29.

30.

31.

32.

33.

Rearrange the sequence of the following countries in view of foreign tourists arrivals
during 2004 :

(i) USA (i) France (iii) China (iv) Thailand
Code :

(A) (), (i), (i), (iv) (B) @), (), (i), (iv)

(C) (i), @v), (@), (i) (D) (i), (i), (i), (i)

The text of the passage can best be described as :
(A) Descriptive (B) Informative (C) Critical (D) Analytical

A card is drawn from a pack of playing cards and then another card is drawn without
the first is being replaced. What is the probability of drawing two spades ?

1 13/ _12
A) 134, +124, ® 3%5,-1%;

© 134,+12,, D) 1%,x12%,

Which of the following is a probability sampling ?
(A) Judgement Sampling (B) Quota Sampling
(C) Stratified Random Sampling (D) Systematic Sampling

Match the following source of variations with Degree of Freedom (DoF) and ANOVA
Table :

(a) Between column treatment i (-1

(b) Between rows treatment @i (c—=1) (r—1)
(c) Residual or error (iii)) (cr—1)

(d) Total (iv) (c—1)

Codes

(@ B (o) (@)

(A) (1) @) (@) (@)
(B) (Gv) @) G (i)
(C) @i () () ()
(D) Gi) (i) (Gv) (D)

D—9306 14



29.

30.

31.

32.

33.

99 2004 % A st gdesmi o SMTHA & TR W fefafad 29 =1 98 %7 <

() Tl i) W (i) = (iv) oEeve
FIS:

(A) (i), (i), (iii), (iv) (B) (i), (@), (i), (iv)

(C) (i), (iv), (@), (ii) (D)  (iv), (i), (i), (@)

TH T 1 A 18 T EET ¢ |

(A) TUERHE (B) HqIIHR

(C) THieTcHeh (D) faveroomeas

AT il B G Tk IoT R TR R gER o frehra forT vee ust st g1 S g9 & a

1 TR &1 T T 9dTd |

Aa) 136, +124, B) %1%,
© 134,+12, (D) 136, x124,
freifafaa § @ &9 @1 S T 81

(A) Tt T (B) TS A
(C) TRAER WA T (D) qEhIS T

THET (ANOVA) difersht & ded iy fafaeran st 3qe ‘<imdt 3w wren’ & a1 faamd |

(a) hicTH SUAR & 9 | i (r—1)

(b) UG STER @ o= H (i) (c—1) (r—1)
(c) STafeT= 9 et (iii) (cr—1)

d I (iv) (c—1)

Fg:

(@ (b)) (© (@
(A) (1) G) (@) (i)
(B) (@v) @) @G) (i)
Q) @) () @) @)
(D) @) (i) @Gv) (@)

D—9306 15
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34.

35.

36.

37.

38.

Give the right sequence of the Research process.
i)  Review previous research findings

ii) Formulate hypothesis

iii) Collect data

(

(

(

(iv) Analyse data
(v)  Designing of Research

(A) (@), (i), (v), (iii), (iv) (B) (i), (i), (v), (), (iv)
(€) (v), @), (i), (v), (i) (D) (v), (i), (i), (iii), (iv)

Assertion (A) : Hypothesis should be clear and precise. If the hypothesis is not clear
and precise the inferences drawn on its basis cannot be taken as
reliable.

Reason (R) : Hypothesis should state relationship between variables, if it happens
to be a relationship hypothesis.

(A) Both (A) and (R) true and (R) is the correct explanation of (A)

(B) Both (A) and (R) true and (R) is not the correct explanation of (A)
(C) (A) true (R) false

(D) (A) false (R) true

Which of the following is not an element/principle of scientific management given by
E.W. Taylor ?

(A) Work Study (B) Scalar chain

(C) Scientific planning (D) Standardization and simplification
Who is the father of Human Relation Approach ?
(A) F.W. Taylor (B) Henry Fayol

(C) Elton Mayo (D) Peter F. Drucken

Which of the following is the right sequence of channel richness ?

(i)  Physical presence

(i) Personal static channels

(iii) Impersonal static channels

(iv) Interactive - Geographically separate channels

(A) (@), (id), (i), (iv) (B) (i), (i), (iv), (i)
Q) (i), (iii), (i), (@) (D) (i), (i), (i), (iv)

D—9306 16



34.

35.

36.

37.

38.

1 it wferan =01 Wt 60 H foend)
() & vy frwef w1 qeaiwd

(i) STaEron fgio
(iii) SATHS! T THA

(iv) 3fishel 1 fagermo

(v) N9 e/ IE

(A) (), (i), (v), (iii), (v) (B) (i), (i), (v), (@), (v)
(©)  (v), (), (i), (iv), (i) (D) (v), (i), (), (i), (v)

HYT (A) : TREHTIA G&H 9 T T =1fed | Afg IReheaT T 9 g&H oI € dl 36 STER
T freret T e foemeri T2 e |

T (R) : IREHEIAT 1 S T o s STCHITAT 1 ST =1(8T IfS I8 AT e IReheu 2|
(A) Tl (A) T (R) T T T4 (R) (A) FT HE =1 2|

(B) 2l (A) 3 (R) WEl & M (R) (A) i Tt = & § |

(C) (A) ®El € A1 (R) TTerd B |

(D) (A) T B (R) W& T

Th. Toied ok g feu Y et & @ B |1 e/ Mgl S geeee @ gt el ¥

(A) & TR (B) THeR oA

(C) o= fairsm (D) WSRO Te HIATHT
‘e Heet gitemior’ & faar &iF ®

(A) TH.TI R (B) T WA

(C) Tered "Rl (D) WX TH g

11 o @ I 1 GE AeAH Tl % ShH i S B
)  fifaew sufeafa
i) gt wifqw ey
iil) sraafa wifaw ey
iv) UREER GHTERe! STerT HIegH
(i), (i), (i), (iv) (B) (i), (ii), (iv), (i)
(iv), (i), (i), () (D) (i), (), (i), (v)

D—9306 17 P.T.O.



39.

40.

41.

42,

Match the following :

(a) External Environment (i) EBCDIC

(b) Interpersonal Communication (i) ABC Method

(c) Controlling Techniques (iii) Social-Cultural Factors
(d) Computer Networking (iv) Transactional Analysis

Codes :

(@) () (o) ()
(A) (@) @ (Gv) (i)
(B)  (@v) @) @) (@)
Q) @) G) @G (@)
(D) (@) (Gv) () (@)

Assertion (A) : Total Quality Management (TQM) is a system approach to
management that aims to continuously increase value to customers
by designing and improving organizational process.

Reason (R) : Total Quality Management (TQM) is not concerned with managing
the entire system.

A) Both (A) and (R) true and (R) is the correct explanation of (A)

B) Both (A) and (R) true and (R) is not the correct explanation of (A)
C) (A) true (R) false

D) (A) false (R) true

When a firm seeks a new market with a completely new product is known as :
(A) Market Penetration (B) Market Development

(C) Product Development (D) Diversification

Give the right sequence of product planning and development process :
(i) Ideas screening
ii) New Product Ideas

iif) Test Marketing

A) (i), (i), (i), (iv) B) (i), (i), (iv), (iii)
Q) (i), (v), (i), (i) (D) (i), (i), (i), (iv)

(
(
(iv) Product Development Programme
(
(

D—9306 18



(a) W& STATER () s
(b) IT=<RART ] (i) S faut
(c) Traf=a q&ts (iii) HHISTR-HER{dh HRE
(d) HIYR TR (iv) g faveryo
#is:
(@ () () (@)
(A) () @)  @Gv) (@)
(B) (v) () (1) (@)
(C©) () @) @G  3Gv)
(D) (i) (@v) (1) (@)
40. ATIHRYIT (A) : T & ST Fel TUTersT Ja-2= ' Teh THT Faee gieahiv ¢ S o e
T TR 1Y T <7 & 2T § FaATgd G737 Tl Gisha1 Fl 3= a
FUifehd T §
qeh (R) :  Hal T[oEsT Yaea 0 Uiehan %l STae 9 Hafyd 78 ¢ |
(A) (A) IR (R) ST FET § T (R) (A) T T =001 §
(B) (A) 3R (R) THI W&l € 99 (R) (A) T Tet == T ©
(C) (A) ®E & dfeh (R) Terd &
(D) (A) 7A€ TR (R) Hal ©

41. <6 TH HH T T IS P YH T § R T IR A o= HIEE F R @S YHRE R

WshaT 1 ST ST © |
(A) TSR AEA (B) IR faemm
(C) g fohmd (D) fafasmr

42. e faeE @ oy ufshen & 98 9 &l F9d |

(i)

(i)
(iii)
(iv)
(A)
(©)

D—9306

EEINEIIS IE I

T4 IS | Faryd foa=m

[EEUE Rt

3qTg T SrisT

(i), (ii), (iii), (iv) (B) (i), (i), (iv), (iii)
(iii), (iv), (ii), (i) (D) (i), (i), (iii), (iv)

19
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43.

44.

45.

46.

Match the following discounts and allowances :

(a) Trade Discount (i) It is merely a rebate or a concession given to the
trader or consumer

(b) Costs Discount (ii) Itisin order to encourage a customer to make bulk
or large purchases at a time or to concentrate his
purchases with the seller

(c) Quantity Discount (iii) Additional discount offer to a customer who places
an order during the slack season

(d) Seasonal Discount  (iv) Itisa functional discount given to the buyers buying
for resale

Codes :
(@ () () @

(A) (@ (@) (@v) (i)
(B) (v) @) (i) ()

(© Gv) @ G (i)
(D) @v) ()  (GiD) (i)

Which of the following is not a user of product ?
(A) Regular user (B) Ex-user

(C) First time user (D) Potential user

Assertion (A) : Promotion is the process of marketing communication involving
information, persuasion and influence.

Reason (R) : It communicates marketing information to consumers, users and
resellers.

A) Both (A) and (R) true and (R) is the correct explanation of (A)

(
(B) Both (A) and (R) true and (R) is not the correct explanation of (A)
(C) (A) true (R) false
(D) (A) false (R) true

“The financial statements and other accounting information are for the specific business
enterprise which is distinct from its owners”, is a type of :

(A) Going concern postulate (B) Money measurement postulate

(C) Entity postulate (D) Time period postulate

D—9306 20



43.

44.

45.

46.

freafafea =2 a w1 1 faam w3

(a) SR () I 9T AR J Ui i & S arelt 9 §

(b) RS W (i) IE Y= 99g ¥ UR® # Wiee F TicdTed & &
Y-T1Y TSk Hi fashaehal 9 TUCEN W &AM higd
EZGIE

(c) WL (ili) TS HI W Wlee W fafed g2 3 5 fF A4S wm
% STTa < S §

(d) T e (iv) 37 TS & W1 fF 7 fowa vq @feed +@ € @
TR T A

I

(@ (b)) (© @)
(A) (@) @) (@v) (i)
(B) (v) Gi) (@) ()
Q) (@v) (@) @) (i)
(D) Gv) @ (@) (i)

157 5 § =1 |1 IS 1 STAN & Ll ¢ |
(A) Trafaa swEmTewa (B) [T SUARTRAl
(C) TRl IR T SYANTHAT (D) U STARTRAI

AR (A) :  TIIUR FoR & ST=ia Yo, 3TIUR T8 yumE ffed € 9 stavae das
foran Hanfera 2t ©

ST (R) : I UTEehi, ITARTRAISN a1 IH: fasharsti 1 faavm = 9em i §

(A) (A) 3R (R) S T § T (R), (A) FT HE =T §

(B) (A) T (R) I Wel & A (R), (A) T W& =00 T2 §

(C) (A)®EE, (R) Terd €

(D) (A) 7T ¥, (R) &l €

“ forefrar fararen we eraish AT fafere saemtaes Teen % fad gt s o <5 mifers @ fis
Al 8" Tk TR E -

(A) TR =g stayron (B) H<F HIYA EHROT

(C) I STayrRum (D) 9T 37EfY STaERon
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47. Which of the following is ‘Net Working Capital Ratio” ?
(A) Gross working capital —Current Assets

B Net Working Capital
(B) Net Liabilities
C Net Assets
© Net Liabilities
(D)

48. Match the following :

(a) BEP (Units) (i)  Contribution X Margin of safety ratio
Budget sales — B/E sal
(b) Contribution Ratio (i) udget sales — B/E sales
Budget sales
(c) Margin of Safety Ratio (i) Sales — Variable Cost
Sales
d) Profit Margi . Total Fixed Cost
< Tom rEm (i) Selling Price — Variable cost per unit
Codes :

(@ B (o) (@)

(A) @) @) (@) (v)
(B) @) @Gv) @ (i)
Q) (v) (i) @G) @)
(D) @i Gv) @ (D)
49. Which of the following are fixed assets ?
(i) Patents (i) Copyrights
(iii) Bank Debts (iv) Tradable (Marketable) Securities
(A) (i), (ii) and (iv) only (B) (), (ii), (iii) and (iv)
(C) (), (ii) and (iii) only (D) (i) and (ii) only

50. Assertion (A) : There are two types of funds that a firm can raise : equity funds and
borrowed funds.

Reason (R) : A firm sells shares to acquire borrowed funds.

(A) Both (A) and (R) true and (R) is the correct explanation of (A)

(B) Both (A) and (R) true and (R) is not the correct explanation of (A)
(C) (A) true (R) false

(D) (A) false (R) true

-00o0-
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47. ‘fags wrEie gt o’ 1 § @ 9 W R
’ fovrs wreieia gt
(A) HHhd HRIA St — el gsata (B) P
foyg gwta fors wrria gsit
C D
() forgrs it () forgrs gwafa
48. T7=9 =1 fgam i)
(a) ST () (i)  FNTeM x Ean gl S
o1e faa - =i/ fosnt
(b) ANTEH T (ii)
ESACE R
(c) T He&T ST (iif) kT - STrlt TP
fast
. Tl TR Ard
(d) o9 U (iv)
st o - STt @G ufd s
FiS:
(a) (b)) (c)
(A) (1) G) (iiD)
B) (i) (Gv) (@)
(C) (v) (i) (i)
(D) (i) (@v) (1)
49. T4 9 99 9 i gsufs g
i T (i) TS
(iii) &I U (iv) =RErE (faqueera) gfasgfaar
(A) (i), (i) T (iv) Fad B) (), (i), (iii) T (iv)
(C) (i), (i) T (iii) o (D) (i) 9 (i) Fad
50. HYUT (A) : T FH S 9@ & Fred (fAe) s gedt @ aman 4t o o fafy
HIT (R) : TF FH 9 forsht it © w0 ff 1 9 w3 2
(A) (A) 9 (R) SFI Tl € 991 (R), (A) 1 Fel fageiwor
(B) (A) @ (R) THI T&l & 941 (R), (A) 1 F&t faveroo =&f &
(C) (A) E& (R) Terd (D) (A) Terd (R) F&t
-00o0-
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